
18.3.2023

SKUPINA ,,A,,
Muži

2 - 5 Moravec 1 : 1 Sochor

3 - 4 Mižigar 1 : 1 Brejšek

5 - 3 Sochor 2 : 0 Mižigar

1 - 2 Minarik 1 : 1 Moravec

3 - 1 Mižigar 1 : 1 Minarik

4 - 5 Brejšek 0 : 2 Sochor

1 - 4 Minarik 1 : 1 Brejšek

2 - 3 Moravec 2 : 0 Mižigar

4 - 2 Brejšek 2 : 0 Moravec

 5 - 1 Sochor 1 : 1 Minarik

SKUPINA ,,B,,
Muži

2 - 5 Brustmann 0 : 2 Hájek

3 - 4 Pražák D. 1 : 1 Truhlář

5 - 3 Hájek 2 : 0 Pražák D.

1 - 2 Valenta 0 : 2 Brustmann

3 - 1 Pražák D. 1 : 1 Valenta

4 - 5 Truhlář 0 : 2 Hájek

1 - 4 Valenta 2 : 0 Truhlář

2 - 3 Brustmann 0 : 2 Pražák D.

4 - 2 Truhlář 2 : 0 Brustmann

 5 - 1 Hájek 1 : 1 Valenta

SKUPINA ,,C,,
Muži

2 - 5 Valeš 2 : 0 Egermaier

3 - 4 Kalina 1 : 1 Cedrych

5 - 3 Egermaier 0 : 2 Kalina

1 - 2 Fraňek 0 : 2 Valeš

3 - 1 Kalina 1 : 1 Fraňek

4 - 5 Cedrych 2 : 0 Egermaier

1 - 4 Fraňek 0 : 2 Cedrych

2 - 3 Valeš 0 : 2 Kalina

4 - 2 Cedrych 2 : 0 Valeš

 5 - 1 Egermaier 2 : 0 Fraňek

SKUPINA ,,D,,
Muži

2 - 5 Vosádka 1 : 1 Škuta

3 - 4 Mareš 1 : 1 Jankovič

5 - 3 Škuta 0 : 2 Mareš

1 - 2 Vlasák 2 : 0 Vosádka

3 - 1 Mareš 2 : 0 Vlasák

4 - 5 Jankovič 1 : 1 Škuta

1 - 4 Vlasák 1 : 1 Jankovič

2 - 3 Vosádka 1 : 1 Mareš

4 - 2 Jankovič 1 : 1 Vosádka

 5 - 1 Škuta 0 : 2 Vlasák

SKN Plzeň 6.Kolo Jednotlivce 301 D.O.

Los 1 2 3 4 5 Bod Místo

3. 1

2 Moravec 1 I 2 0 1 4 4. 2

1 Minarik Š 1 1 1 1 4

6 1

5. 3

4 Brejšek 1 2 1 K 0 4 2. 4

3 Mižigar 1 0 P 1 0 2

1. 5

Los 1 2 3 4 5 Bod Místo

5 Sochor 1 1 2 2 Y 6

Valenta Š 0 1 2 1 4

2. 34

2 5. 2

3. 1

7 2 Brustmann 2 I 0 0 0

8 3 Pražák D. 1 2 P 1 0

4. 4

10 5 Hájek 1 2 2 2 Y 7 1. 5

9 4 Truhlář 0 2 1 K 0 3

Los 1 2 3 4 5 Bod Místo

5. 1

12 2 Valeš 2 I 0 0 2 4 3. 2

11 1 Fraňek Š 0 1 0 0 1

2. 3

14 4 Cedrych 2 2 1 K 2 7 1. 4

13 3 Kalina 1 2 P 1 2 6

4. 5

Los 1 2 3 4 5 Bod Místo

15 5 Egermaier 2 0 0 0 Y 2

2. 1

17 2 Vosádka 0 I 1 1 1 3 4. 2

16 1 Vlasák Š 2 0 1 2 5

1. 3

19 4 Jankovič 1 1 1 K 1 4 3. 4

18 3 Mareš 2 1 P 1 2 6

5. 520 5 Škuta 0 1 0 1 Y 2



SKUPINA ,,E,,
Muži

2 - 5 Štýs 1 : 1 Kocar

3 - 4 Černý 2 : 0 Pavlík

5 - 3 Kocar 0 : 2 Černý

1 - 2 Várka 2 : 0 Štýs

3 - 1 Černý 0 : 2 Várka

4 - 5 Pavlík 2 : 0 Kocar

1 - 4 Várka 2 : 0 Pavlík

2 - 3 Štýs 2 : 0 Černý

4 - 2 Pavlík 1 : 1 Štýs

 5 - 1 Kocar 2 : 0 Várka

SKUPINA ,,F,,
Muži

2 - 5 Bažo 1 : 1 Gorol

3 - 4 Rozbickij 1 : 1 Šturm

5 - 3 Gorol 2 : 0 Rozbickij

1 - 2 Sklenák 1 : 1 Bažo

3 - 1 Rozbickij 1 : 1 Sklenák

4 - 5 Šturm 0 : 2 Gorol

1 - 4 Sklenák 1 : 1 Šturm

2 - 3 Bažo 1 : 1 Rozbickij

4 - 2 Šturm 1 : 1 Bažo

 5 - 1 Gorol 1 : 1 Sklenák

SKUPINA ,,G,,
Muži

2 - 5 Holub 2 : 0 Červenák

3 - 4 Morpak 0 : 2 Ortmann

5 - 3 Červenák 1 : 1 Morpak

1 - 2 Čmolík 1 : 1 Holub

3 - 1 Morpak 2 : 0 Čmolík

4 - 5 Ortmann 1 : 1 Červenák

1 - 4 Čmolík 1 : 1 Ortmann

2 - 3 Holub 2 : 0 Morpak

4 - 2 Ortmann 1 : 1 Holub

 5 - 1 Červenák 1 : 1 Čmolík

SKUPINA ,,H,,
Muži

2 - 5 Bešík : 0

3 - 4 Mundok 2 : 0 Šlajs

5 - 3 0 : Mundok

1 - 2 Král 0 : 2 Bešík

3 - 1 Mundok 2 : 0 Král

4 - 5 Šlajs : 0

1 - 4 Král 2 : 0 Šlajs

2 - 3 Bešík 2 : 0 Mundok

4 - 2 Šlajs 0 : 2 Bešík

 5 - 1 0 : Král

Los 1 2 3 4 5 Bod Místo

1. 1

22 2 Štýs 0 I 2 1 1 4 2. 2

21 1 Várka Š 2 2 2 0 6

3. 3

24 4 Pavlík 0 1 0 K 2 3 4. 4

23 3 Černý 0 0 P 2 2 4

5. 5

Los 1 2 3 4 5 Bod Místo

25 5 Kocar 2 1 0 0 Y 3

2. 1

27 2 Bažo 1 I 1 1 1 4 3. 2

26 1 Sklenák Š 1 1 1 1 4

4. 3

29 4 Šturm 1 1 1 K 0 3 5. 4

28 3 Rozbickij 1 1 P 1 0 3

1. 5

Los 1 2 3 4 5 Bod Místo

30 5 Gorol 1 1 2 2 Y 6

5. 1

32 2 Holub 1 I 2 1 2 6 1. 2

31 1 Čmolík Š 1 0 1 1 3

3. 3

34 4 Ortmann 1 1 2 K 1 5 2. 4

33 3 Morpak 2 0 P 0 1 3

4. 5

Los 1 2 3 4 5 Bod Místo

35 5 Červenák 1 0 1 1 Y 3

3. 1

37 2 Bešík 2 I 2 2 0 6 1. 2

36 1 Král Š 0 0 2 0 2

2. 3

39 4 Šlajs 0 0 0 K 0 0 4. 4

38 3 Mundok 2 0 P 2 0 4

55 0 0 0 0 Y 0



SKUPINA ,,I,,
Muži

2 - 5 Buzek : 0

3 - 4 Matviičuk 0 : 2 Uhlíř

5 - 3 0 : Matviičuk

1 - 2 Mimra 1 : 1 Buzek

3 - 1 Matviičuk 1 : 1 Mimra

4 - 5 Uhlíř : 0

1 - 4 Mimra 2 : 0 Uhlíř

2 - 3 Buzek 0 : 2 Matviičuk

4 - 2 Uhlíř 2 : 0 Buzek

 5 - 1 0 : Mimra

SKUPINA ,,J,,
Muži

2 - 5 Tressl : 0

3 - 4 Pražák M. 2 : 0 Švarc

5 - 3 0 : Pražák M.

1 - 2 Musil 2 : 0 Tressl

3 - 1 Pražák M. 2 : 0 Musil

4 - 5 Švarc : 0

1 - 4 Musil 1 : 1 Švarc

2 - 3 Tressl 2 : 0 Pražák M.

4 - 2 Švarc 0 : 2 Tressl

 5 - 1 0 : Musil

SKUPINA ,,K,,
Muži

2 - 5 Kotáb : 0

3 - 4 Korábečný 1 : 1 Rác

5 - 3 0 : Korábečný

1 - 2 Šmehlík 1 : 1 Kotáb

3 - 1 Korábečný 1 : 1 Šmehlík

4 - 5 Rác : 0

1 - 4 Šmehlík 1 : 1 Rác

2 - 3 Kotáb 0 : 2 Korábečný

4 - 2 Rác 1 : 1 Kotáb

 5 - 1 0 : Šmehlík

SKUPINA ,,B,,
Muži

2 - 5 Šavelová 1 : 1 Eisenhammerová

3 - 4 Bažová 0 : 2 Dudková

5 - 3 Eisenhammerová 0 : 2 Bažová

1 - 2 Uhlířová 1 : 1 Šavelová

3 - 1 Bažová 2 : 0 Uhlířová

4 - 5 Dudková 0 : 2 Eisenhammerová

1 - 4 Uhlířová 1 : 1 Dudková

2 - 3 Šavelová 1 : 1 Bažová

4 - 2 Dudková 1 : 1 Šavelová

 5 - 1 Eisenhammerová 1 : 1 Uhlířová

Los 1 2 3 4 5 Bod Místo

1. 1

41 2 Buzek 1 I 0 0 0 1 4. 2

40 1 Mimra Š 1 1 2 0 4

3. 3

43 4 Uhlíř 0 2 2 K 0 4 2. 4

42 3 Matviičuk 1 2 P 0 0 3

5

Los 1 2 3 4 5 Bod Místo

5 0 0 0 0 Y 0

3. 1

45 2 Tressl 0 I 2 2 0 4 1. 2

44 1 Musil Š 2 0 1 0 3

2. 3

47 4 Švarc 1 0 0 K 0 1 4. 4

46 3 Pražák M. 2 0 P 2 0 4

2

1

55 0 0 0 0 Y 0

2.

49 2 Kotáb 1 I 0 1 0 2 4.

4

50 3 Korábečný 1 2 P 1 0 4 1. 3

51 4 Rác 1 1 1 K 0 3 3.

48 1 Šmehlík Š 1 1 1 0 3

Los 1 2 3 4 5 Bod Místo

5

Los 1 2 3 4 5 Bod Místo

5 0 0 0 0 Y 0

5. 1

2 Šavelová 1 I 1 1 1 4 3. 2

1 Uhlířová Š 1 0 1 1 3

1. 3

4 Dudková 1 1 2 K 0 4 4. 4

3 Bažová 2 1 P 0 2 5

2. 55 Eisenhammerová 1 1 0 2 Y 4



SKUPINA ,,C,,
Ženy

2 - 5 Valentová : 0

3 - 4 Koťaková 0 : 2 Veszpremiová

5 - 3 0 : Koťaková

1 - 2 Bešíková 1 : 1 Valentová

3 - 1 Koťaková 1 : 1 Bešíková

4 - 5 Veszpremiová : 0

1 - 4 Bešíková 1 : 1 Veszpremiová

2 - 3 Valentová 2 : 0 Koťaková

4 - 2 Veszpremiová 1 : 1 Valentová

 5 - 1 0 : Bešíková

SKUPINA ,,D,,
Ženy

2 - 5 Hanzliková : 0

3 - 4 Truhlářová V. 2 : 0 Konečná

5 - 3 0 : Truhlářová V.

1 - 2 Lincová 1 : 1 Hanzliková

3 - 1 Truhlářová V. 2 : 0 Lincová

4 - 5 Konečná : 0

1 - 4 Lincová 0 : 2 Konečná

2 - 3 Hanzliková 1 : 1 Truhlářová V.

4 - 2 Konečná 0 : 2 Hanzliková

 5 - 1 0 : Lincová

Los 1 2 3 4 5 Bod Místo

3. 1

7 2 Valentová 1 I 2 1 0 4 1. 2

6 1 Bešíková Š 1 1 1 0 3

4. 3

9 4 Veszpremiová 1 1 2 K 0 4 2. 4

8 3 Koťaková 1 0 P 0 0 1

5

Los 1 2 3 4 5 Bod Místo

5 0 0 0 0 Y 0

4. 1

11 2 Hanzliková 1 I 1 2 0 4 2. 2

10 1 Lincová Š 1 0 0 0 1

3. 4

12 3 Truhlářová V. 2 1 P 2 0 5

515 5 0 0 0 0 Y 0

1. 3

13 4 Konečná 2 0 0 K 0 2



A1 Sochor 1

K3 Rác 2 Rác 0

I1 Mimra 2 Mimra 2

G2 Ortmann 0 Mimra 2

B3 Valenta 2 Valenta 0

H2 Mundok 1 Valenta 2

D3 Jankovič 0 Gorol 1

F1 Gorol 2 Mimra 2

C1 Cedrych 0 Štýs 1

E3 Černý 2 Černý 1

F2 Sklenák 2 Sklenák 2

K1 Korábečný 0 Sklenák 1

B2 Pražák D. 0 Štýs 2

E2 Štýs 2 Štýs 2

A3 Minarik 0 Holub 0

G1 Holub 2 Mimra 0

D1 Mareš 2 Kalina 2

J3 Musil 0 Mareš 2

A2 Brejšek 0 Uhlíř 0

I2 Uhlíř 2 Mareš 1

J1 Tressl 0 Kalina 2

C2 Kalina 2 Kalina 2

I3 Matviičuk 0 Bešík 1

H1 Bešík 2 Kalina 2

E1 Várka 2 Vlasák 1

C3 Valeš 0 Várka 2

J2 Pražák M. 2 Pražák M. 0 Štýs 1

K2 Šmehlík 0 Várka 1 Vlasák 2

F3 Bažo 1 Vlasák 2

D2 Vlasák 2 Vlasák 2

G3 Morpak 0 Hájek 1

B1 Hájek 2

Semifinále Finále
A1 Bažová 1

B2 Veszpremiová 2 Veszpremiová 0

C1 Truhlářová V. 0 Bešíková 2

B3 Bešíková 2 Běšíková 0

A2 Eisenhammerová 0 Hanzlíková 2

C2 Hanzlíková 2 Hanzlíková 2

B1 Valentová 2 Valentová 0 o 3.misto
A3 Šavelová 0 Veszpremiová 0

Valentová 2

Osmifinále1.Kolo Čtvrtifinále Semifinále Finále

o 3.misto

Čtvrtifinále


